





1.

2.

3.

4.

5.

1.

⌘

가

가

가

가

.

.

.

2.



가

.

3.

⌘ (factor) :

⌘ (level) :

⌘ (factorial factor) :

(,)

*

:

2

H,

T

$S = \{TT, TH, HT, HH\}$

X

X

. $X(S) = \{0, 1, 1, 2\}$ 가

S

X

x

$x = X(S)$

X

S

.

.

* 가 : 1500
 . 36
 1478 .
 1500
 가 가
 1500 가 가
 가 .
 * 가 : 가 1500
 가 .
 * : 가
 .
 * :가 가
 .

* : (X_1, X_2, \dots, X_n)

$$\sum_{i=1}^n \left(X_i - \bar{X} \right)^2 \quad n-1$$

$$\sum_{i=1}^n \left(X_i - \bar{X} \right)^2$$

$X_1, X_2, \dots, X_n \quad n$

$$\sum_{i=1}^n \left(X_i - \bar{X} \right) = (X_1 - \bar{X}) + (X_2 - \bar{X})$$

$$+ \dots + (X_n - \bar{X}) = 0 \quad \text{가} \quad (n-1)$$

n

$$\sum_{i=1}^n \left(X_i - \bar{X} \right)^2$$

(n-1) 가 (n-1)

4.

⌘ 3

⌘

A							
A_1	x_{11}	x_{12}	$\cdots x_{1j}$	$\cdots x_{1n_1}$	$T_{1.}$	n_1	$\bar{x}_{1.} = T_{1.} / n_1$
A_2	x_{21}	x_{22}	$\cdots x_{2j}$	$\cdots x_{2n_2}$	$T_{2.}$	n_2	$\bar{x}_{2.} = T_{2.} / n_2$
M	M	M	M	M	M	M	M M
A_i	x_{i1}	x_{i2}	$\cdots x_{ij}$	$\cdots x_{ini}$	$T_{i.}$	n_i	$\bar{x}_{i.} = k_{i.} / n_i$
A_k	x_{k1}	x_{k2}	$\cdots x_{kj}$	$\cdots x_{knk}$	$T_{k.}$	n_k	$\bar{x}_{k.} = T_{k.} / n_k$
					$T_{..}$	n	$\bar{x}_{..} = T_{..} / n$

$x_{i,j}$

$X_{i,j}$

$$X_{i,j} = \mu + \alpha_i + \varepsilon_{i,j}$$

$\mu :$

$\alpha_i :$ A_i 가

$\varepsilon_{i,j} :$ i, j

$(0, \alpha^2)$

$$\bar{X}_{i.} = \frac{1}{n_i} \sum_{j=1}^{n_i} X_{ij} = \frac{1}{n_i} \sum_{j=1}^{n_i} (\mu + \alpha_i + \varepsilon_{ij})$$

$$= \mu + \alpha_i + \bar{\varepsilon}_{i.} \quad (\bar{\varepsilon}_{i.} = \frac{1}{n_i} \sum_{j=1}^{n_i} \varepsilon_{ij})$$

$$\bar{X}_{ij} = \frac{1}{n_i} \sum_{i=1}^k \sum_{j=1}^{n_j} X_{ij} = \mu + \bar{\alpha}_i + \bar{\varepsilon}_{i.} \quad (\bar{\alpha}_i = \frac{1}{n_i} \sum_{i=1}^{n_i} \alpha_i, \bar{\varepsilon}_{i.} = \frac{1}{n_i} \sum_{i=1}^{n_i} \varepsilon_{ij})$$

$$S_T (\text{total variation}) = \sum_{i=1}^k \sum_{j=1}^{n_j} (X_{ij} - \bar{X}_{..})^2 \quad (1)$$

$$S_T (\text{total variation}) : \quad X_{ij} \quad \bar{X}_{..}$$

$$S_T \quad \nu_T = n - 1$$

(1)

$$\begin{aligned}
 S_T &= \sum_i \sum_j \{ (X_{ij} - \bar{X}_{i.}) + (\bar{X}_{i.} - \bar{X}_{..}) \}^2 \\
 &= \sum_i \sum_j (X_{ij} - \bar{X}_{i.})^2 + 2 \sum_{i=1}^k (\bar{X}_{i.} - \bar{X}_{..}) \sum_{j=1}^{n_i} (X_{ij} - \bar{X}_{i.}) \\
 &\quad + \sum_{i=1}^k (\bar{X}_{i.} - \bar{X}_{..})^2 \\
 &= \sum_i \sum_j (X_{ij} - \bar{X}_{i.})^2 + \sum_{i=1}^k (\bar{X}_{i.} - \bar{X}_{..})^2
 \end{aligned}$$

$$S_E (\quad) = \sum_{i=1}^k \sum_{j=1}^{n_i} (X_{ij} - \bar{X}_{i.})^2$$

$$\nu_E = \sum_{i=1}^k (n_i - 1) = n - k$$

$$(\ominus \sum_{j=1}^n (X_{ij} - \bar{X}_{i.})^2 \quad n_i - 1)$$

$$S_A (\quad) = \sum_{i=1}^k n_i (\bar{X}_{i.} - \bar{X}_{..})^2$$

$$\nu_A = k - 1$$

$$S_E = \sum_{i=1}^k \sum_{j=1}^{n_i} (X_{ij} - \bar{X}_{i.})^2 = \sum_{i=1}^k \sum_{j=1}^{n_i} \{(\mu + \alpha_i + \varepsilon_{ij}) - (\mu + \alpha_i + \bar{\varepsilon}_{i.})\}^2$$

$$X_{ij} = \mu + \alpha_i + \varepsilon_{ij} \quad , \quad \bar{X}_{i.} = \mu + \alpha_i + \bar{\varepsilon}_{i.}$$

$$= \sum_{i=1}^k \sum_{j=1}^{n_i} (\varepsilon_{ij} - \bar{\varepsilon}_{i.})^2$$

$$S_A = \sum_{i=1}^k n_i (\bar{X}_{i.} - \bar{X}_{..})^2 = \sum_{i=1}^k n_i \{(\mu + \alpha_i + \bar{\varepsilon}_{i.}) - (\mu + \alpha_i + \bar{\varepsilon}_{..})\}^2$$

$$= \sum_{i=1}^k n_i (\alpha_i - \alpha_i + \bar{\varepsilon}_{i.} - \bar{\varepsilon}_{..})^2$$

"

가

"

가

가 $H_0 : \alpha_1 = \alpha_2 = \dots = \alpha_i = \alpha_k$

$$V_E = \frac{S_E}{V_E} = \frac{S_E}{n-k}$$

$$V_A = \frac{S_A}{V_A} = \frac{S_A}{k-1}$$

$$F = \frac{V_A}{V_E}$$

k - 1,

n - k

F

.

*

(1) 가 $H_0 : A$ 가 .

$$(2) \quad S_T = \sum_i \sum_j \left(x_{ij} - \frac{T_{i.} T_{.j}}{n} \right)^2 \quad \nu_T = n - 1$$

$$S_A = \sum_i \left(\frac{T_{i.}^2}{n_i} - \frac{T_{..}^2}{n} \right)^2 \quad \nu_a = k - 1$$

$$(\quad) S_E = S_T - S_A \quad \nu_E = \nu_T - \nu_a = n - k$$

$$V_A = \frac{S_A}{k - 1} \quad V_E = \frac{S_E}{n - k}$$

$$F = \frac{V_A}{V_E}$$

(3) $F \geq F_{n-k}^{k-1}(\alpha)$ 가

A

(4)

	S_A	$k - 1$	$V_A = S_A / k - 1$	$F = V_A / V_E$	$F_{n-k}^{k-1}(\alpha)$
	S_E	$n - k$	$V_E = S_E / n - k$		
	S_T	$n - 1$			

*

가 가 가 .

*

$$A: N(\mu, \sigma^2), \quad B: N(\mu, \sigma^2)$$

(1) A, B

가

(2) A, B

n_1, n_2

$$(x_1, x_2 \text{ K } x_{n_1}), \quad (y_1, y_2 \text{ K } y_{n_2})$$

$$\bar{x} = \frac{1}{n_1} \sum_{i=1}^{n_1} x_i, \quad \bar{y} = \frac{1}{n_2} \sum_{i=1}^{n_2} y_i$$

$$\hat{\sigma}^2 = \frac{1}{n_1 + n_2 - 2} \left\{ \sum_{i=1}^{n_1} (x_i - \bar{x})^2 + \sum_{i=1}^{n_2} (y_i - \bar{y})^2 \right\}$$

$$t = \frac{\bar{x} - \bar{y}}{\hat{\sigma}} \sqrt{1/n_1 + 1/n_2}$$

(3)

(4)

(5)

$$i \quad \mu + \alpha_{\neq i} \quad j \quad \mu + \alpha_j$$

$$\text{가} : \mu + \alpha_{\neq i} = \mu + \alpha_j \quad \alpha_i = \alpha_j$$

$$T = \frac{|X_{i.} - X_{j.}|}{\sqrt{V_E (1/n_i + 1/n_j)}}$$

가

$$v_E = n - k \quad t \quad .$$

$$\alpha = 0.05 \quad 0.01)$$

(1)

$$|x_{i.} - x_{j.}| \geq t_{n-k}(\alpha) \sqrt{V_E (1/n_i + 1/n_j)}$$

(2)

$$|x_{i.} - x_{j.}| \geq t_{n-k}(2\alpha) \sqrt{V_E (1/n_i + 1/n_j)}$$

$$CT = (-2)^2 / 12 = 0.33$$

$$: S_T = \{(-3)^2 + (-8)^2 + (-4)^2 + (-10)^2 + (2)^2 + (4)^2 + (-2)^2 + (1)^2 + (5)^2 + (8)^2 + (3)^2 + (2)^2\} - CT = 316 - 0 = 316$$

$$12 - 1 = 11$$

$$: S_A = \{(-25^2/4) + (-5^2/4) + (18^2/4)\} - CT = 244$$

$$3 - 1 = 2$$

$$: S_E = S_T - S_A = 72$$

$$11 - 2 = 9$$

	244	2	122	15.2	$F_9^2(0.05) = 4.26$
	72	9	8		$F_9^2(0.01) = 8.02$
	316	11			

2g, 4g, 6g

\bar{X}_1 ,

\bar{X}_2 , \bar{X}_3 .

$$\bar{X}_1 = \frac{-25}{4} + 77 = 70.25$$

$$\bar{X}_2 = \frac{5}{4} + 77 = 78.25$$

$$\bar{X}_3 = \frac{18}{4} + 77 = 81.50$$

9

$$\therefore t_9(0.05) = 2.262, t_9(0.01) = 3.250$$

$$n_1 = n_2 = n_3 = n_4 = 4, \quad v_E = 8$$

$$t_9(0.05) \sqrt{V_E (1/4 + 1/4)} = 4.524$$

$$t_9(0.01) \sqrt{V_E (1/4 + 1/4)} = 6.500$$

$$1. \bar{x}_1. \quad \bar{x}_2.$$

$$= |70.25 - 78.25| = 8.0 > t_9(0.01)\sqrt{V_E(1/4 + 1/4)} = 6.5$$

$$\Rightarrow \quad 1\% \quad .$$

$$2. \bar{x}_1. \quad \bar{x}_2.$$

$$= |70.25 - 81.25| = 11.0 > t_9(0.01)\sqrt{V_E(1/4 + 1/4)} = 6.5$$

$$\Rightarrow \quad 1\% \quad .$$

$$3. \bar{x}_2. \quad \bar{x}_3.$$

$$= |78.25 - 81.25| = 3.25 > t_9(0.05)\sqrt{V_E(1/4 + 1/4)} = 4.524$$

$$\Rightarrow \quad .$$

5.

⌘ A, B가
l 가 A A_i B B_j가
(A_i, B_j) x_{ij}
가 (),
()

	B_1	B_2	$\cdots B_j$	$\cdots B_l$		
A_1	x_{11}	x_{12}	$\cdots x_{1j}$	$\cdots x_{1l}$	$T_{1.}$	$\bar{X}_{1.}$
A_2	x_{21}	x_{22}	$\cdots x_{2j}$	$\cdots x_{2l}$	$T_{2.}$	$\bar{X}_{2.}$
M	M	M	M	M	M	M
A_i	x_{i1}	x_{i2}	$\cdots x_{ij}$	$\cdots x_{il}$	$T_{i.}$	$\bar{X}_{i.}$
A_k	x_{k1}	x_{k2}	$\cdots x_{kj}$	$\cdots x_{kl}$	$T_{k.}$	$\bar{X}_{k.}$
	$T_{.1}$	$T_{.2}$	$\cdots T_{.j}$	$\cdots T_{.l}$	$T_{..}$	
	$\bar{X}_{.1}$	$\bar{X}_{.2}$	$\cdots \bar{X}_{.j}$	$\cdots \bar{X}_{.l}$		$\bar{X}_{..}$

$X_{i,j}$

$X_{i,j}$

$$X_{i,j} = \mu + \alpha_i + \beta_j + \varepsilon_{i,j}$$

μ :

α_i, β_j : A_i, B_j 가

$\varepsilon_{i,j}$: i, j

$(0, \alpha^2)$

$$\bar{X}_{i.} = \frac{1}{n_i} \sum_{j=1}^{n_i} X_{ij} = \frac{1}{n_i} \sum_{j=1}^{n_i} (\mu + \alpha_i + \varepsilon_{ij})$$

$$= \mu + \alpha_i + \bar{\varepsilon}_{i.} \quad (\bar{\varepsilon}_{i.} = \frac{1}{n_i} \sum_{j=1}^{n_i} \varepsilon_{ij})$$

$$\bar{X}_{ij} = \frac{1}{n_i} \sum_{j=1}^k \sum_{i=1}^{n_j} X_{ij} = \mu + \bar{\alpha}_i + \bar{\varepsilon}_{i.} \quad (\bar{\alpha}_i = \frac{1}{n_i} \sum_{i=1}^{n_i} \alpha_i, \bar{\varepsilon}_{i.} = \frac{1}{n_i} \sum_{i=1}^{n_i} \varepsilon_{ij})$$

가

$$S_T(\text{total variation}) = \sum_{i=1}^k \sum_{j=1}^l (X_{ij} - \bar{X}_{..})^2 \quad (1)$$

$$S_T(\text{total variation}): \quad X_{ij} \quad \bar{X}_{..}$$

$$S_T \quad \nu_T = kl - 1$$

(1)

$$\begin{aligned}
 S_T &= \sum_i \sum_j \{ (X_{ij} - \bar{X}_{i.}) + (\bar{X}_{i.} - \bar{X}_{..}) \\
 &\quad + (\bar{X}_{.j} + \bar{X}_{..}) + (X_{ij} - \bar{X}_{i.} - \bar{X}_{.j} + \bar{X}_{..}) \}^2 \\
 &= l \sum_i (\bar{X}_{i.} - \bar{X}_{..})^2 + k (\bar{X}_{.j} + \bar{X}_{..})^2 \\
 &\quad + \sum_i \sum_j (X_{ij} - \bar{X}_{i.} - \bar{X}_{.j} + \bar{X}_{..})^2
 \end{aligned}$$

$$A \quad S_A = l \sum_i (\bar{X}_{i.} - \bar{X}_{..})^2 \quad v_A = k - 1$$

$$B \quad S_B = k (\bar{X}_{.j} + \bar{X}_{..})^2 \quad v_B = l - 1$$

$$S_E = \sum_i \sum_j (X_{ij} - \bar{X}_{i.} - \bar{X}_{.j} + \bar{X}_{..})^2$$

$$\therefore S_T = S_A + S_B + S_E$$

$$\begin{aligned} v_E &= v_T - v_A - v_B \\ &= (kl - 1) - (k - 1) - (l - 1) = (k - 1)(l - 1) \end{aligned}$$

$$X_{ij} = \mu + \alpha_i + \varepsilon_{ij} , \quad \bar{X}_{i.} = \mu + \alpha_i + \bar{\varepsilon}_{i.}$$

$$\bar{X}_{.j} = \mu + \beta_j + \bar{\varepsilon}_{.j} , \quad \bar{X}_{..} = \mu + \bar{\varepsilon}_{..}$$

$$\left(\bar{\varepsilon}_{i.} = \frac{1}{l} \sum_{j=1}^l \varepsilon_{ij} , \bar{\varepsilon}_{.j} = \frac{1}{k} \sum_{i=1}^k \varepsilon_{ij} , \bar{\varepsilon}_{..} = \frac{1}{kl} \sum_j \sum_i \varepsilon_{ij} \right)$$

$$S_E = \sum_{i=1}^k \sum_{j=1}^l (\varepsilon_{ij} - \bar{\varepsilon}_{i.} - \bar{\varepsilon}_{.j} + \bar{\varepsilon}_{..})^2$$

$$S_A = l \sum_{i=1}^k (\alpha_i + \bar{\varepsilon}_{i.} - \bar{\varepsilon}_{..})^2$$

$$S_B = k \sum_{j=1}^l (\beta_j + \bar{\varepsilon}_{.j} - \bar{\varepsilon}_{..})^2$$

가 $H_{0\alpha} : \alpha_i = 0$

가 $H_{0\beta} : \beta_j = 0$

$$V_E = \frac{S_E}{V_E} = \frac{S_E}{(k-1)(l-1)}$$

가 $H_{0\alpha} : \alpha_i = 0$ 가

$$V_A = \frac{S_A}{V_A} = \frac{S_A}{k-1}, \quad F = \frac{V_A}{V_E}$$

가 $H_{0\beta} : \beta_j = 0$ 가

$$V_A = \frac{S_B}{V_B} = \frac{S_A}{l-1}, \quad F = \frac{V_B}{V_E}$$

1-1,

(k-1)(l-1)

F

.

가

A, B

.

가

.